Revision Exercise (Integration)

1.

a) 9 c) 41 e) 36 g) 1 i) & k) £ m) 5

b) 128 d) 129 f) —30 h) 53 j) 4 1) 12

2.

a) 810 b) 243 )9—-v3 d) 2 e) -1 f) 112 g) h) £
3.

a) 20 c) —%% e) 6 g) 32 i) —5+mn3 k) —L

b) 126 d) -2 f) -2 h) 22 j) 28

4.

a) —5cosf + ¢ d) —sinf + ¢ g) —3cosf+4sinf+c j) Zsinb0 +c

b) —3sinf + ¢ e) 2cosf + ¢ h) & sin66 + ¢ k) +sin20 + ¢

c) cosf + ¢ f) 2 cosf +c i) —3cos30 +c 1) —3sin46 + ¢

5.

a) 1 b) 1 c)—1+v3 d) i e) 4 f) 143 o) 3 h) 0.967
6.

a)y=12>+2z c)y=—2r+3 ey=x—1 g)y=1302x+3)>—
b)y=12%-3 d)y:% Hy=2yr—x h)y:%_:a%?»

7.

a)a=2,b=3c=4 b) y = 322 + 2 )y =a*+2x7 +2
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